drie & %fﬂ‘k’i/ﬁ‘ﬁ

3-1 % * SLF#G R e £ BRI RA:

Grinding Surface

|
\p\ Hs

S—k Hr

—
A / f Grinding Surface

Ra
Unit : mm
ITEM Maximum Fillet Maximum Height Maximum Height Rail Bolt Length
(Ra) (Hr) rail shoulder (Hs) block shoulder (Lb) suggestion
BG 15 0.6 2.8 5 M4*16
BG 20 0.9 4.3 6 M5*20
BG 25 1.1 5.6 7 M6*25
BG 30 1.4 6.8 8 M8*30
BG 35 1.4 7.3 9 M8*30
LR T TE RS 3%
set screw
Table

Datum plane Base Datum plane
Subsidiary side Master side

FRITERY AR EG > AP R RT LR T A Rk
1. H%T 5 (Base) £ # & B % ML % g (Datum plane) »
2. 4% T L (table) & & — B Rl T ik B g 2 2 18 BB Sk
3. % Zpl(Master side) # # L 5 (table)id Bféf'lJ Ll R E e



¥ Lad 1

% EMPF

L RHESLEYE U S LR AR R LR

EEASEES SELINE URES S E AE LS SR
G RO R B R R A o TR AR
O P

=
o

HF 2R PUEET R AF S o R e FURSAE 8 B Ay
Ble % g ddspk b o

AR ER T B RIS R R A B AL 1T e AR mf%ﬁﬁ'?f‘i?
&,gaaggdﬁb%&*%*w?



ot & ESEF B

HE3d P LA RO AR TR S RORY o L % K
GRS AL P A R B 3 RV L E IR R - L A
B RS o s R S DRR Y L RT R b Rl A

HAF AR A RE S RREAM ?ﬁﬁfi’fii%%-iﬁ‘ﬁi ifi%?-3ﬁ'&'&*i? °




drie ¥ RAEF

FAL R e

LS o4 Tightening torque ( kgf*cm ) — hexagonal socket screw
Screw size 4% (Steel) 44# (Cast Iron) |48 & £ (Aluminum)
M2 6.3 4.2 3.1
M2.3 8.4 5.7 4.2
M2.6 12.6 8.4 6.3
M3 21 13.6 10.5
M4 441 29.3 22
M5 94.5 63 47.2
M6 146.7 98.6 73.5
M8 325.7 215.3 157.5
M10 724.2 483.2 356.7
M12 1264.2 840 630
M14 1682.1 1125 840
M16 2100 1403.5 1050

XEF P RR T SR AURS IR R e R
PR

ﬁa5@?ki%%*i%wﬁ’F%aiﬁﬁﬁﬂfﬁﬁ’ﬁFo
RFRTRIREFRE BEFI BRI NTRIFGRRBTR ]
&wwa%wgup—m«%(- SR AAE R EFRFEAAP L L RE)




T UT 2

% 6 i B AT 2 (table) Fl A #us Bl AL

HRT RSB
HF AT

*

To e BIRS X XA RARRT AEREF




dote % A

3-3 1 Lk A ehS % LA RS

NN

%2%

Tk TS

ISzl

Wﬁ—&gﬁ—ﬁgﬁ i




drim & %ﬁ'}izf‘ n

3-4 10T 5 F R E RS P




